BKO Ne2,5

Py fla

40

70

20

0

\

a4 05 06 47 08

Q meic 1/
BKO Ne4,0
Py 1o Ny, kBm
& o
N 8
500 ]ﬁg@ S -
Ny=11«Bm "l
40 Ly A E N
- N
w0 LA N S
037 %:ZH@%}W 1
137 4 \ a7
N i
200 025 £ / )( //U=59'M r
N
AV e
A )/ 025
100 / ,
ff LSS o
/ ) A= 1330 00kt
/\ ///
50
4 yL/:ZéZZM [‘
\
2 3 4 5 6 7 89
Qmic 1/
BKO No6,3
Py Il Ny, kBm
R =
W15 kB X, S
J\,A&o n
w AL ONS -
\ 0
N ¥ 9
hslndot
E Q185 z(ﬁ/ML/H y
NGy K
200 AR s
3 y
0,55/\\ / \\\ \/, 17
L N/ Yo | o
~
ava
10 DANTAN
\
N5 i Y
% / A a37
A/ '
P >/U=29,9M/[
5 6 7890 11 2 1B1w620

& meic MJ/L/

BKO Ne3,15
Py, [la Ny, kBm
O -
N &S
A N
300 S D
NN
My=055 kBm / Q\&)
20 W AV AV AR
ya N
SIS
pE2790 oo/ mum | 055
4 a37
w gf/‘/ [ //5‘195 %
=586 M/ |
/ // A
a718
’ a25
YayAVav4
AN
0 //7=/ 136 05//»?0/-1 08
/ N /
=27 M/
2 3 4 5 6 7 89
& mic. v/
BKO Ne5,0
Py [la Ny, kBm
o
N
& B
,Q//
200 / %Q)o
— 8
o
Y
200 q_g_q / / / %‘——%@7
| MW=037 kBm A/ |
VAN VARV
AY
ra ANy 4
700 / (/7= 734/0 %LZ/ »l(j_v’ 4 ﬂ (X3
SAEVARN Y a37
/\
/
u=352 M/C
50
E) 4 5 6 7 890
& meic. MJ/L/
BKO Ne8,0
Py, o Ny, kBm
-
o o
S, 5
[/}
40 /9

WAL S
0 =130 0/ mum \\1 \\/

N
\N /N
/ \/
N 40

\ 30
17
N u=591m/c
| 075 RN y y
2 "~ =945 00/ MuH
o N / N/ |
A4
N/ u=356 m/C
) 20 25 0 3B 40 g
& mbic. M/

153



BKO Nel0,0

Py I Ny, kBm
-
(\/ Q
¢, :
NUEN] Q ~
Y @
Q \g,
800 >

600

200
00

Ny=4.0 kBm

n=1430 a8,/ M

40

=591 m/c

154

40

60 B
& meic. /4



